[N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

(%] n —_— - e -
2 & T T T
S =
£ g
(5}
g S
4 [%)
Q j=
E Q
= 3
@
o i i o
g iRttt i HAffie 3
o LI AL 14
L]
LAt it HHif
iRttt At
IRt A : :
0.95/ a i i i i i 0.95
=25 20 25 =25-20-15-10 -5 0 5 10 15 20 25
TP d>< PV cm TP dxy(PV) (cm)
—— DQM_V0001_R000000001_Global _CMSSW_X_V_Z_allNODNNZ
—— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z_all2
—— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z__all75
[N of sim] —— DQM_v0001_R000000001__Global_CMSSW_X_Y_Zz_all7
1] 1J
< a
S =
b el
I 2
o
2 2
= @
[5] c
3 S
= 3
x
£ © Pl A
I I 1l 1l 1l I 1l I
l I Il I Il I 1l 1l
1 I I I I I I i
.6 0.8 =1-0.8-0.6-0. .2 0.
TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
2 : £
° : : » . . [
Jo e R R SRR LR RL AR 2
a : : : : : €10
o : : : 2
2 : : : 3
8 10%F- e CRERRE ERERR e eeses S
= : : : 3
: : : 10
[T T A Y S s Peeees
¢le N N
PR N N
Dby :
"""" [N | HiH
he] . o i
T : T ]
04 : 14
i 1+ 2 TR E = - -+
0.95 L s .
0 10 20 30 =30 -20 -10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} F 2
o o
2 =
E
(5}
g E
4 [%]
Q c
@ S
= 3
i3

Ratio

0 0. 1
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


